Friday 6th November
LC : I can solve problems involving subtraction by counting back

Eva is calculating 7 — 2 and does this by
counting backwards on a number line.

She gets an answer of 6 @A

What mistake has she made?
What should the answer be?

The answer is 2

How many ways can you get to this by
counting backwards on this number line?
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Game

Race to zero!

Start at 10 on a number line.

Roll a dice and subtract this amount.
The first person to land on O wins.
What would you like to roll? Why?

Why would you not want to roll a 1?
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